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QUESTION 1

You are installing an AP to be used by 23 laptops. All laptops will connect on the 5 GHz frequency band. A neighbor
network uses channels 1 and 6. What channel should be used for this AP and why? 

A. Channel 6, because it is always best to use this channel 

B. A 5 GHz channel, because channels 1 and 6 are 2.4 GHz channels they have no impact on the decision 

C. Channel 1, because it is best to use the channel with the lowest frequency 

D. Channel 11, because channels 1 and 6 are in use nearby 

Correct Answer: B 

 

QUESTION 2

In an 802.11n 2.4 GHz BSS, what prevents each station from using the full network data rate (e.g. 216.7 Mbps) for user
data when multiple clients are actively exchanging data with the AP? 

A. Half of the bandwidth is allocated to uplink traffic and half to downlink traffic 

B. All data frames must be acknowledged and the medium is shared 

C. Radio receiver hardware cannot process data is quickly as it can be transmitted 

D. APs do not have sufficient wired connection speeds to the LAN, even at 1 Gbps connections, with 802.11n and
earlier APs 

Correct Answer: B 

 

QUESTION 3

When compared with legacy Power Save mode, how does VHT TXOP power save improve battery life for devices on a
WLAN? 

A. VHT TXOP power save allows stations to enter sleep mode and legacy Power Save does not. 

B. VHT TXOP power save allows the WLAN transceiver to disable more components when in a low power state. 

C. VHT TXOP power save uses the partial AID in the preamble to allow clients to identify frames targeted for them. 

D. Legacy Power Save mode was removed in the 802.11ac amendment. 

Correct Answer: C 

 

QUESTION 4

Which one of the following 802.11 PHYs is more likely to be used in an industrial deployment but not likely to be used in
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standard office deployments? 

A. SIG 

B. VHT 

C. OFDM 

D. HT 

Correct Answer: B 

 

QUESTION 5

A string of characters and digits is entered into an AP a client STA for WPA2 security. The string is 8 characters long.
What is this string called? 

A. MSK 

B. WEP key 

C. Passphrase 

D. PSK 

Correct Answer: C 

Reference 
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